SN 05D4bg-918
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SN infos (SNLS-DB) Observation Infos FORS Setup and Ambi
Name 05D4bg Run 1 29 Grism : 300V
R.A. : +22:15:39.907 dRA(”) : 1.15”7 Slit 0.7 (")
Decl : -17:33:47.272 dDecl(”) : -0.39” Seeing 2 0.55 (7)
PeakJD : 928.0 ObsJD : 918.32600 AirMass 0 1.02
Magl 1 23.34 Date : 2005-07-07 at 06:49’ dPix[X,Y] 2 [5.5;2.0]
z : -1.000 ExpTime :4x9007” Seeing Orig. : AO
Type : SN? Polar Angle : 0.00 deg Ysn(CR) : 31.058 pix
HI :-1 Telescop : ESO-VLT-U2 State : ENDED
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SALT2 Fit :
Parameters 05D4bg : Spectre (Z=0.974) 05D4bg : Courbes de Lumiere
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Z-let Fit :
05D4bg : Redshift de PSF SNGAL = 0.9735
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